
   

8470 

681D +  
2x M6x16 
DIN7984 

YAMAHA YZF R-125 

2008–2017 
Part Nr. 685  

M8 x 30 DIN7991 

+ 123220708 

M6 x 12 DIN7991 

M8 x 50 DIN6921 
+ 807 

M8 x 50 DIN6921 
+ 807 

M6 x 25 DIN7380 

+ 816R + M6 DIN985 

 
 

M6 x 30 DIN7991 
+ M6 DIN934 

BRAKE HOSE    90°/ 400mm / 0° 

818270 

M6 x 40 DIN7380 
+ 817 + 123121406 

+ M6 DIN985 

 
 

817 + 
818040 + 

M8 DIN934 

EXCENTR 820 
+M6 x 20 DIN7991 

M8 x 20 DIN7991 M8 x 20 DIN7991 

M6 x 40 DIN7380 

+ 123121406 
+ 816L + M6 DIN985 

882 

813RC 

813LB 

872 

8300 
810R 

8291 


